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3. The trapezoid has an area of 108 square

12ft

feet. Find the height.

Be Precise

h = 2A kil aps 270id L Check your amswer by using
— b] m b; eight ol a trapezol i L Dot b e o ol
h= 2(108) Replace A with 108, b, with 12, 15 ft a traperdid.
T 12+15 and b, with 15. oy 3
216 , , V. _(l’l"Lz.)\l_
h==+- Multiply 2 and 108. Add 12 and 15.
27 —
h=8 Divide. 2
So, the height of the trapezoid is 8 feet. : "f - ( o ) 2,) h
Got 1¥7 Do these problems to find out. “) .
d. A=24cm? e. A=21yd? @(4 = '6 h
—
b, =4cm b, =2vyd Z e
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=7 h="7? €.
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6 feet, what is the height of the trapezoid? (Eample) 3 feet

_(b i+, )4

4. In the National Hockey League, | 18t |
goaltenders can play the puck 1 Q - 2
behind the goal line only in e

a trapezoid-shaped area, as | <\ % -+ 'Z:'b) \_}_

shown at the right. Find the | 28t |
| | _— m—

2
area of the trapezoid. (txample ) 253 ft =~ 2

—c4edV)
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5. @} Building on the Essential Question How is the
formula for the area of a trapezoid related to the formula

for the area of a parallelogram? Sample answer: A

) =
parallelogram can be decomposed into two congruent s (.Zg jCl
—

trapezoids. So the area of each trapezoid is one half -

1,5‘5

the area of the parallelogram.
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Guided|Practice

Chec

Find the area of each trapezoid. Round to the nearest tenth if necessary. oo« i

3.

5.

68 I'I'l2 ' 2. 90.4 ftz
6m W) | 7t
| l_"'_'_'_"'",.‘l |
| 18ft
&m ‘: 1 :
! 156t
o
Nm
A trapezoid has an area of 15 square feet. If the bases are 4 feet and
6 feet, what is the height of the trapezoid? “umple 3 3 feet
In the National Hockey League, | : 18 ft ——s |
goaltenders can play the puck i Q
behind the goal line only in ik - g
a trapezoid-shaped area, as I
shown at the right. Find the i‘ -y ] Rate Yourself!

Ave you ready to wove ow?
Shade the section that applies.

@ Building on the Essential Question How is the o
formula for the area of a trapezoid related to the formula

Sample answer: A
for the area of a parallelogram? Formore help, 9o entine o [
parallelogram can be decomposed into two congruent $ n

area of the trapezoid. (rampes 293 ft?

access a Personal Tutor.

trapezoids. So the area of each trapezoid is one half

[T Time +o update your Feldable!

the area of the parallelogram.
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IndependentiPractice

Go online for Step-by-Step Solutions @

Find the area of each trapezoid. Round to the nearest tenth if necessary. “ooplec 10007
l 3. 1 12 mz )

£y 168yd? 2, 45em?
5 yd
i
'E:';;‘:'_ﬁ

4. Atrapezoid has an area of 150 square meters,
If the bases are 14 meters and 16 meters,
what is the height of the trapezoid?

(Example 3)

10m

‘ Em

34cm |

| 1775 m —
I
I

b

10.25m

. Atrapezoid has an area of 400 square

millimeters. The bases are 14 millimeters
and 36 millimeters. What is the height of
the trapezoid? (fuample 3)

16 mm

6. Find 1the area of the patio shown. (frample )
470, ft?

— .

251t

w



‘ﬂ‘ Use the diagram that shows the lawn that surrounds
an office building.

a. What is the area of the lawn? 7:000 ft’

b. If one bag of grass seed covers 2,000 square feet,
how many bags are needed to seed the lawn?

4 bags

8. @ Reason Abstractly Tiles are being placed in front of a fireplace
to create a trapezoidal hearth. The hearth will have a height of 24 inches
and bases that are 48 inches and 60 inches. If the tiles cover 16 square
inches, how many tiles will be needed?

81 tiles

Draw and label each figure. Then find the area. Sample answers: 9-13

9. atrapezoid with noright angles and an area | 10. a trapezoid with a right angle and an area

less than 12 square centimeters ‘ greater than 40 square inches
A=9cm? A =50in?
2am Bin.
| Sin, \
b2
12in
4cm




@ Persevere with Problems Apply what you know about rounding to
explain how to estimate the height h of the trapezoid shown if the area is
235.5m?

19.95m
Ih
N

26.75m

The lengths of the bases can be rounded to 20 m and 30 m, respectively.

The area can be rounded to 250 m?, Divide 250 by (20 + 30), or 50, and

then multiply by 2. The height h is about 10 m,

12. @ Identify Repeated Reasoning Find two possible lengths of the
bases of a trapezoid with a height of 1 foot and an area of 9 square feet.

. 2l
Explain how you found your answer, Since 9= 3(1)(b, + b,), the

possible lengths have a sum of 18; Sample answers: 2 ft and 16 ft, or

8ftand 10 ft

13. @ Reason Abstractly How can you use the formula for area of a
parallelogram to determine the area of a trapezoid if you forgot the

formula for area of a trapezoid? By knowing the formula for the area of a

parallelogram is A = bh, | can draw two congruent trapezoids and rotate

one so they create a parallelogram. After multiplying the base and

height, | can divide by 2 to find the area of the trapezoid.

14, @ Reason Inductively The area of a trapezoid is 36 square inches.
The height is 4 inches and one base is twice the length of the other

base. What are the lengths of the bases? 6in.and 12in.



